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3. — R, Wz, =a+bi,z,=c+di(a,b,c,dER).
(DHDOMz,+2z, Nz, Hz, B, }J %}umzl ‘|‘Z2 (@bl Hletd )=
QEHMINEIEERKE g5 &
(2)D— i, 5 $z=a+bi(a,p € RN RBGCNE  FEHUE 2=-(a+bi)=

@/E;E&ZlvaszZZ El@ %iﬂﬂ/ﬁZrZz,?‘ﬁ%ﬂ%Zl-Zz —Z +('Zz):
4.745z,=-5+31,z,=4-2i,

Wiz +z,= i
ZBR-1+ -9+5i
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3.4 Bz, 2 & |z, |= 1|z, =3, 0|z,
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(D)(1+21)+(2+1)=3+3i.( V )

(Z)Eiﬂzl,zz‘iﬁﬁﬂzl+22=ZZ+21.( v )

(3) 15z, =3-4i,2,=-2+31, Wz, -z, 7 & 1 A B2 S AL T 38 %R «
OB BN — 22— TEE.(x )
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(1)(3-21)+(4+31);

(2)(-1+v/31)+(1-v/31);

(3)(5-41)+(-3+21)-(2+i).

SR A K, BMESEARICEIRE KN, BIE B BAT
. BB (at+bi) £ (c+di)=(atc)+H(bE d)i(a,b,c,dER).

(1) R X =(3+4)+(-2+3)i=T+i;

(2)&R X=(-1+1)+(v3 — V3)i=0

(3)/& R.=(5-3-2)+(-4+2-1)i=-3i.
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AAFI(1)EEN: CLH1(3-21)+z=T+,R E Hz.
fi#:z=7+i-(3-21)=4+3i.
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[ZZR1]) o 5(D)2i-[(3+21)+(-1+31)];
(2)(a+2bi)-(3a-4bi)-5i(a,b ER).
f2:(1) & X=2i-[(3-1)+(2+3)i]=2i-(2+51)=-2-3i.
(2))% X=(a-3a)+(2b+4b-5)i=-2a+(6b-5)i.
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N0,3+21,-1+61.3K:
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f#:(1): AO=-0A4,BLOA i %9 B 4 % 3+2i,

s AOST 51 #) B % H-(3+21),BP-3-2i.

(2)= CA = 04 — OC,

o CAXY 5 09 B3 H (3+21)-(-1+61)=4-4i.
(3) OB = 04 + 0C,

. OBt 5 8 8 % K (3+2i)+(-1+61)=2+8i.
S8 B X R A B KA 248
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